Program A Program B

Thank you for purchasing our products.

As a reliable seller, we have been pursuing to provide customers with 100% satisfied products and services,
so we hope that you will enjoy this shopping experience.

If you find any damage, missing parts or dissatisfaction after receiving the product, pls feel free to contact us at the
first time, we will provide you with 100% satisfactory solution.

Thanks again for your order. And pls feel free to contact us in case of any problem regarding assembling or
product itself. We will do everything we can to resolve it.

TIPS:

1.Two people are recommended to install,which will greatly improve your installation efficiency.

2.Put the screws in loosely until all pieces are together and then tighten them all. It will save your time if you make a
mistake while installing.

1/12




2/12



1 pcs 1 pcs 1 pcs 3 pcs 1 pcs
F G i
1 pcs 2 pcs 1 pcs 1 pcs 1 pcs
K L A 4 A
1 pcs 1 pcs 1 pcs 1 pcs 2 pcs
P Q
4"Illlii'> @»mmmmmm» CDmmmm»m @»mmmm»
’ M6x40 M6x32 M6x27
25x880
2 pcs 1 pcs 3 pcs 10 pcs 16 pcs
@ ®
Sy
X15 )
M6x12 l
0
& 15x25
X1
M6 24 pcs 3 pcs
’ %

4 pcs

15x25xM6
6 pcs

M4 X2
0
TR

M=,

1 pcs

3/12




Program A

Install the shelves
on the left

X

o) e
) SBOOKK
KA Y
" K \
% @ \
p \

Program B

Install the shelves
on the right

AV

A\

A |

4/12




Program A
Installation tips:

1.Align the fittings and accessories
when installing the frame, then tighten

the screws. Assemble the shelve on the left.

2.When installing the board, first screw

all screws into holes loosely then tighten them.

Z

g (T

Step(2) ]

nc

@))))))))))))))))

X1 @

X2 ©

X1

X1)® X2/ (® X1
L

AN

@w |

@
10~
Xt @2 @1

5/12




Step(5)

Step(4)

6/12



5

=
=
|
=
=
=
=)
=

)

=>)

®X12

@[X5) @] X1)

( Qo W

7/12

@/ X4)|©®) X8

@))))))))))))))) )-\\m\\\\\m\\

W

@ XZJ@ X‘U X@@ X‘UL x@

~| =@

Antl-toppllng
Accessories




e e e

8/12



Program B
Installation tips:

1.Align the fittings and accessories

when installing the frame, then tighten

the screws. Assemble the shelve on the right.
2.When installing the board, first screw

all screws into holes loosely then tighten them.

N
U

e
w

i

Step(2)

@
o

W

)))))))))))))))

(W

@xi e o

©

i




5)

Step(

Step(4)

10/12



L e
| oy
® |© S)
Sy
2 X
)
(B [) - o
= €8 »
/w@ Q5 \
TR o 2
5 |X T 0 -
e < 3 ,
< 7
Sh

W

6

©[x2) @ X‘U X4\ @ x4)_ | X6)

-~

11/12



e e

X2/l

12/12



	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型




